CHARUTAR VIDYA MANDAL’S
Vitthalbhai Patel & Rajratna P, T. Patel Science College
(Autonomous)

Vallabh Vidyanagar
Laboratory Assistant Written Examination
Part-A (Series: A)

Subject :
Date: 2& ’712025 Time: 60 Min Marks : 60
Candidate Sign. : Seat No.
1 Aquar : dRar 2 domAR
Monday : Saturday : ? : Tuesday
a) YsalR b) AR ¢) ddIR d) oucl?
Friday Sunday Thursday Wednesday

%l WORK oll 5l5 “4-12-9-16” 8l L WOMAN il 5ls 2l 8l ?

If the code of WORK is “4-12-9-16” then what is the code of WOMAN ?

a) 4-12-14-26-13 b) 4-26-14-13-12 c) 23-12-26-14-3 d) 23-15-13-1-14

s e 6 Bl e@al B drg WA B, el soll ey aoll 4 Bl @ B, sdlall stoll ey all
Al Rountl 5 Bl w@ B, Al 6Q Agf Yu 5 [B2U R &l ?

A man walks 6 km towards the south, from there he turns left and walks 4 km, then turns left again
and walks straight for 5 km, so in which direction is he now facing?

a) 6@@ {South) b) G+l (North) c) chi (East) d) uf@n (West)

9| AUl 3675249 Hioll UAs W vismiell A olle sclHl WA el Uedls AL vis Hi 3 GReUMl 2ud
A ool otell N5l d2ct sl A vl el HA?

If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,

how many digits appear twice in the new arrangement?

a) 1 b) 2 c) 3 d) 4
wAe ys dl wedl s weud. 3 ‘ 48 —‘
Fill in the missing number in the given question. | ‘ 51 |
F | T
a) 25 b) 20 o 32 4 42

As Aol Hi Qo] 2ot ol BY ol 16 W B. Al A cwel Ul Jecu s 62 2

Ravi's position in a line is 16th from both ends. So how many people are there in that line?
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10

11

12

13

a) 29 b) 30 c) 31 d) 32

1, 4, 27, 16, ?, 36, 343

a) 25 b) 87 c) 120 d) 125

OTE, PUF, QVG, RWH, ?

a) SXI b) SXJ ¢) TXI d) SYJ

Ay AEel Aot 612 Aol Hiclloll GHR sl 2ol B. s ay ugl, Aell Gz, Aol Micitall GuR
secil - ol &g ¥d. A Qoll tcttell clciatet GuR ecll &2

A person's current age is —25— times his mother's age. After eight years, his age will be -;— times his mother's
age. So, what will be his mother's current age?

a) 32 b) 36 c) 40 d) 48
ﬂpxqﬂudooﬂ(ﬂdw@,P—Qoﬂuaiaoﬂmédpé,P+Q Awd ol Ml P, P+Q
A ud q oAl e P B.

if P x Q means Q's father P, P — Q means Q's sister P, P + @ means Q's mother P, P + @ means Q's

brother P.
a) =l by YA c) WAt d) Mol ¥ W=
(granddaughter) (son) (grandson) (granddaughter or

grandson)
o A Relel ufauo Hi uMal 3:25 Bl D dl scls AU ARe siat ol a2 ol 3yotctit el 4
832
When a wall clock shows 3.25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° c) 47.5° d) 42°
oAl ol ol 120 (B d3aR ofl w2 Ray udel ®, A 1@ A 212 Rau sal Bad 622
If the 12" of January is four days before Thursday, then what day will be the 21 of the month?
a) HolqallR(Tuesday) b) YsaR (Friday) c) 20daR (Sunday) d) WHAR (Monday)
100 Renelluiel s2auHl sude Hdul: 40 Reanell 2@l (M) oA B, 50 Qe Rsuet (s) AR B, 35
Rl 2030 () AR B, 15 Qenella AR wA @Qsuot dA AR B, 10 R Ristiot U 3l o
oi B, 12 Qenella ot ua 0 Wi o B, 5 Qe A9 [@Ana 2R B, A dec RQanelal
s Aua ABld AR B?
In a survey of 100 students : 40 students like Mathematics (M), 50 students like Science (S), 35 students

like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
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English, 12 students like both Mathematics and English, 5 students like all three subjects. How many

students like only Mathematics?
a) 13 b) 17 ¢) 30 d) 18
14 15[ (x) ofl WA ude wR @sed (a), (b), (c) vl (d) Hiell dsll 2l wulatell ol e 52

choose the correct mirror-image of the Fig. (x) from amongst the four alternatives (a), (b), (c) and (d)

T EEE

(x) a) b) d)

given along with it.

(U# ol 15-16)
AR ol R tauletyds izl wal ol WAet Yl oil wellol Bl
otcl Bdzetl el As RRaxul Bz AU A 26U D, AW J, K, L, M, N, O, P, Q, dlell R B, el U5 ¥
s Hi Asl D. L, M ol 2t wHell ol ctalt N ol 21l sl Aol B. K el As Bsl U 8. Q A
0 WA P 6idl ol WA A8 B. 0, K oll stoll oixyR Aot 57 B. J, 0 oll SIA 2l ¥ Adct B,
{Question No. 15-16)
Read the information below carefully and answer the questions given below.
Nine cricket fans are watching a cricket match in a stadium. They are J, K, L, M, N, O, P, Q, and R. And
they are sitting in the same row. L is to the immediate right of M and third to the right of N. K is at one end
of the row. Q is sitting near both O and P. O is third to the left of K. J is sitting immediately to the left of O.
15 sAMell ML GUOLML 5L AS B?
Who is sitting in the middle of the row?
a) | b) J c) O d) Q
16 &Anall ollot B slal A B2
Who is sitting at the other end of the row?
a) J b) P c) N d R
17 P ol lsclloll 35U Q &l At U2 R ofl HuHEl A S B. R ol Bsu s ol 2Nl B. l 2 AYEH
a2l sl Elsetlr Sl 82
P's running speed is greater than Q but less than R. R's speed is less than S. So who is the fastest
runner in this group?

a) S b) R c) P d) Q
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o ol. 18-21 \ . Girls |
(M ) Studnets School | Boys : Girls ‘

A Dotl AUlgD BLEAUY 5A B © UL 750 07 : 08
_ —
6000

el attonllul et Qenellllel dvat 2
wdld B wUA o Aeil yslolloll WU :332 C
et 2000 % ’ "
(Question No. 18-21) o E '| 02:01 |
Study the graph below which shows the A 8 c 0 E T | F ‘ 07 : 03 ol
total number of students in six different schools and answer the questions that =
follow.
18 otll ol Blsdlalel wraa decl B2

What is the average of girls in all school?

a) 1375 by 1275 c) 1225 d) 1350
19 S F Al Sl wa o D M Slsdlall a2 g dstdd 872

What is the difference between the boys in school F and the girls in school D?

a) 600 b) 700 c) 400 d) 200

50 9 s E i 30% Rene(ldA yax Qe 28% Ranelzdd olfl Qewdt, 26% Qarellzizal o
Rlewol Aoical 8l A clloll W o 2L 82, dl At adcl QenellzA Q.
If in school E 30% students got first division, 28% students got second division, 26% students got third
division and rest did not pass. Find the failed students.
a) 1000 b) 900 c) 940 d) 960
21 aou B Hi SlsA el e € M Bl dell ojElel? ¥ecll B2
What is the ratio between girls in school B and boys in school C?
a) 8:5 b) 5: 8 c) 6:7 d 7:6
22 BDF, CFl, DHL, ?
a) EMI b) CJM ¢) EJO d) EML
23 23, 29, 36, 44, 7
a) 58 b) 55 c) 53 d) 49
24 % + GRAAR X, — ARAUUR +, X GRIHR + AU = oAAR — A AL 6-9+8x3+20=
If + equals X, — equals +, X equals + and + equals — , then 6 —9 + 8x3+20=

a) 6 b) 2 o 12 d) 10
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25 A Yal Hi vl s woud. N 7 | 3 |
Fill in the missing number in the given question. ‘_()Tso_l F
o5 |' 145 | ?—||
a) 225 b) 75 945 g 33
26 o(lAetl aoll a2t 2oiti A AQ 2ol Aet UGl udle 5A: Ak, dAlRwA, Y
Select the Venn diagram that best illustrates the relationship among the following classes: Moon, stars,
sun
a) b) c) d)
@
oo OO0 D
27 (1A As o URAllell AR UADL WAL 2ol WAL D, 51 ofl [Qzg dveu 904,
Four different positions of the same dice are given below. Find the opposite number of 51.
< 2> 56
% Jfb? ssa f/gz )
(53] 55] [54] 5515153 | 51154
~L7 N T R P
a) 53 b) 52 c) 55 d) 54
28 Aell [Qseuiell, et A Rl o AL SN g: 4
From the given options, find the pair which is similar to the given pair: 8: 4
a) 216: 32 b) 27:9 c) 72: 24 d) 45: 5
29 80 &l 90 a2 ofl ctaun WQReura A ol JBUSLIR g aUA?
What is the product of all prime numbers between 80 and 907
a) 83 b) 7387 c) 598347 d) 8773
30 1257122 i AsH ofl s QL.
Find the units digit in 1257 122
a) 9 b) 7 c) 3 d) 2
(U o, 31-32)

oA wilet ol Qeel o aid U sl 53 3 Ysiel Gele UL U 59 [@Qulet walud B2

(Question No. 31-32) Read both the statements given below and decide which statement is sufficient to answer

the question?
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31

32

Bllott oll oot st ¥ a2l &cll?
Qutet:

L Ballett, weu® Weltell Hictell 24 a stiell D,

0 Belletell el Aol oot 2000 i Al &l Wettell wetell 30 @y otlall B.
a) Asd Quiet 1 Yad B. w2 Asq Ratet 1 uatite otell.

b) Ascl Qtet 1 Y B. *uR Bsg Qutet | waludt e,
¢ oA Rttt | wUA 11 Y2eut o,

d) olal @utet | aal I Yrell B.

In which year was Fiona born?

Statements:

I.  Fiona is currently 24 years younger than her mother.

Il.  Fiona's brother was born in 2000. He is 30 years younger than his mother.
a) Statement | alone is sufficient. While statement Il alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and Il are not sufficient.

d) Both statements | and Il are sufficient.
w12, 2006 o1l Bedl 2@at? 58 AR el &cdl?
@Qutst:

LA uletiel udel R 5 1l Atdli el el

L HReledl Becl Bay ysauR &dl.

a) Asdl Aulet 1 Y B. *AR Asg @utet 1 uallid «tell.
by Rscd Rutet 11 Y2 B. »A? Ase Qe | waiid o2l
) ol [Qutet 1 A 11 YRl B,

d) ol Rtuet 1 w1 yre otell,

The last Sunday of March, 2006 fell on which date?
Statements:

I.  The first Sunday of that month fell on the 5"

Il. The last day of that month was Friday.

a) Statement | alone is sufficient. While statement Il alone is not sufficient.

b) Statement Il alone is sufficient. While statement | alone is not sufficient.
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33

34

35

36

37

38

39

40

c) Both statements | or Il are sufficient.

d) Both statements | and Il are not sufficient.

sUoll:

1.E¥ AN BB, 2. €35 CA BB,

[

1. E3s C A A B, 2. 3ecls B A C «lell.

a) §5c Qs -1 AU B. b) 55l Ay -2 AQuUR D.

c) Ry -1 uA 2 WUR 8. dy Bl -1 3 2 Ul Asugl Uojurd ol

Statements: 1. Every A is B. 2. Every C is B.

Conclusions: 1. Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

c¢) Conclusion -1 and 2 follow, d) Neither conclusion -1 nor 2 follows.

A x ud y A dvanzll A AAeiniell s [@Aseu Asl Ava a?

If x and y are odd numbers, :then which of :the following options will be ;n even number?
a) x+y By x +y+1 " Taxy T d) xy+2
o 2389A4 A 9 d AN el asta AL A =7

If 2389A4 can be divided by 9 without remainder, then A =7

a) 3 by 2 c) 1 d) 0

72 x 81 x 78 x 99 Hi AsHall s Wl

Find the units digit in 72 X 81 X 78 x 99.

a) 1 b) 2 c) 3 d) 4

A= Ax=r (f 2= then x =7)
x 22— X 225

a) 25/2 b) 4/25 c) 25 d) 4

463 — 403 - 63=7

a) 32120 b) 33120 c) 0 d) 30120
9|13 -5/-5%x4+10=?

a) 16 by —16 c) 52/10 d) -92/10
sHo] 100 UE 83 &7 : 8, 11, 14, 17, ...

The 10th term of the sequence: 8, 11, 14, 17, ... is......

a) 31 b) 33 c) 35 d) 37
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41

42

43

44

45

46

47

48

49

142y i Lo

2 4 8 16
a) 15/16 by 31/16 ¢) 30/16 d) 17/16
Avisell Al AL wud Well oltoll vl c2ell dgtad L, Boll BBlell AU 14 B.
Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14.
a) 18 b) 27 c) 15 d) 36
R x+x+1=00d Y a uA B &L, rﬂ—‘1;+%0leC-€l§aC:1 892
If « and B are the root of %2 + x +1 = 0. Then what will be the value of §+ —[1;?
a) 1 b) 0 ) -1 d) (None) Bsual =gl
ol x—§= 3 8, l of x® —;15 o yea 2d ad? (if x—§= 3, then what is the value of x —;}5 ?)
a) 36 b) 63 c) 99 d) 27
R 6x? — 5x — k=0 As YA 3 A AL, k o YR 9 &2
If one root of 6x2 —5x —k =10 is3, what will be the value of k?
a) 36 b) 39 c) 0 d) 2
140 RrauelRA sil Aode 948 ol ud2tel 35 B. AHl W aAcl Ruenellzaoll a2t 40 8L B. Al
Al adel Qeanelluisll u321et 40 YL 8. QL ot 2del Qeanlzlloll a2212 20 2Rt d. Al sl
adel RrauelRACA dva decll 6212
The average of the marks obtained by 140 students is 35. The average of the passed students is 40
marks. And the average of the failed students is 40 marks. So, the average of the failed students is 20
marks. So, what will be the number of failed students?
a) 40 b) 30 c) 35 d) 20
10 dvaiallell w2 15 Al A £35 AvAL UL S Gacil 2, A otcll AR g Ual?
If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?
a) 20 b) 15 c) 10 d) 75
Rl sleeldl Guz Yot 52l 5 ARl B. 4 oy ugl Acttel 612 4 2l &3, A Rcttsll sletell GuR
yecll uQ?
The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?
a) 12 b) 48 c) 60 d) 72
RS cldoll el 15 % aedl i B, Bl Aol uR adl wd A ¥ audl A2l Al curld i el 25l
yaldl sl AgA?
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50

51

52

53

54

55

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what percentage
should consumption be reduced?

a) 13-% b) 13% o) 15% d) 135-%

30% ol 30% = ? (30% of 30% = ?)

a) 0.09 b) 9 c) 0.9 d) (None) Asugl oiel
As clad 900/~ 3R 1 Auaell 25% ol W2 AL Al Aell yABu dacll 622

If an item is sold for Rs 900/- and there is a loss of 25%, what will be its original price?

a) 3600 b) 1125 c) 675 d) 1200

Bl AUEIN UA UH efs 12 Bt u 15 Baat uil st ydl 3 ad B, A0 wd uollad 5 Rau st
53 D U UK el 28 B Al oltfle sti wuBN A ygl sl Jecu Ear cwdl?

If Anish and Param can complete a work in 12 days and 15 days respectively. They work together for
5 days and Param stays away, then in how many days will Anish take to complete the remaining work?
a) 3 days b) 9 days c) 15/4 days d) None (AsUQL «l&l)
A ool 214l A 4 seus Ml el 9 B, uUA B o 2idl A 6.5cus UL vuel 52 B. A ol L Asud
vl a4 dl 2isl Feclt sclts Ul oY a2

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b) 53 ) 12 d) None (AsuQ «dl)
acllot wal Ul Wl As caucUAMl et 3. 2,00,000 of Astet 53, wella 3. 1,20,000 < As1Q 53 ol
uaa 3. 80,000 of Astal 53, As ad ugl, get 8l 3. 65,000 U, Udolal 32Ell ol§l HuRW?

Jatin and Pawan together invested a total of Rs. 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000. After one year, the total profit was Rs. 65,000. How much profit did
Pawan get?

a) 26,000 b) 39,000 ¢) 32,500 d) 25,500

110 oL ctioll 3etoll sy 60 Bullscls B, unica wet u Al 170 L. cicll gt A UL sl
Ads Ad?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long
train standing on parallel tracks?

a) 15.6 b) 16.8 c) 17.2 d) 18
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55l & caEallell o s x Brluscus a2 y Bullscus 82, Al U2 Al Qe Rawt vwia adll
Qe 83l U Aol el 2R Becll 22

If the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed when
they are moving in opposite directions?
a) % b) % c) x+Yy d x—Yy
57 A S,=2n*+3n d d=?
If S, = 2n? + 3n, then d =7
a) 13 b) 4 c) 9 d) -2
58 A ual B ol RS w5 4:58 ddl W@s Wl 7:9 B, A old €2 Ul 3. 50 wad gadll A, dl A ol
Wl s yecll 22
The monthly income of A and B is 4:5 and the monthly expenditure is 7:9. If both of them save Rs. 50
every month, then what will be the monthly income of A?
a) 530 b) 500 c) 512 d) 400
(ua <. 59 l 60.) '
A3 2 e ougHi As dunell oi{lot of (Aetrul

[] aeter fle
galald) B, dugell AeAN s o{lAott Yol E=22 dlars wile
Aot aelol W, e
(T aad) taiad wile
(Question No. 59 to 60.) wpl i3 Gweibri dade wila

The pie graph given below shows the details of the

156 S50 = 7200 263)

land of a village. Study the graph and answer the

following questions correctly.

59 Aol WMol (wasteland) &l Al cals (cultivable) ¥Hletall ol Fecll aa?
What is the ratio of wasteland to cultivable tand?
a) 3:2 b) 1:2 c) 4:3 d) 3:1
60 9 ool et Asts( 7200 AR Alat, AL olUR (grazing) M2 yocll As2 wllet AsAc B?
If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400

*The End*
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CHARUTAR VIDYA MANDAL’S
Vitthalbhai Patel & Rajratna P. T. Patel Science College
(Autonomous)

Vallabh Vidyanagar
Laboratory Assistant Written Examination
Part-A (Series: B)

Subject :
Date : Q_?IQI202-S Time: 60 Min Marks : 60

Candidate Sign. : » Seat No,

1

BDF, CFI, DHL, ?

a) EMI b) CJM c) EJO d) EML

23, 29, 36, 44, ?

a) 58 b) 55 c) 53 d) 49

B+ GRAUR X, — GRAGR +, X HUAAR + AU + GRAAR — A
6-9+8x3+20=

If + equals X, — equals +, X equals + and + equals — , then
6—-9+8x3+20=

a) 6 b) 2 c) 12 d) 10
alet ua 1l vedl uis wudl. 5 | 7 [ 3 ]
Fill in the missing number in the given question. 20 30 ‘ 10

SN NS i, -3

95 145 | 7 |

a) 12 b) 9 o 13 d) 08

oflAetl aoll aAott Aoita Ars A eladl Aot gl e 5A: Ag, ctardl, Y
Select the Venn diagram that best illustrates the relationship among the following classes: Moon, stars,

sun
a) b) c) d)
G2 ) o &
SO O
ol As % Uldloll AR WA WA lell AL B, 51 ofl Qg Aven M.

Four different positions of the same dice are given below. Find the opposite number of 51.

,/52“*”5/ 52
(58 | 55 55§\

/

a) 53 b) 52 c) 55 d) 54
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7 wla Rscduig, wla A Bl o AL Al 8: 4
From the given options, find the pair which is similar to the given pair: 8 : 4
a) 216: 32 by 27: 9 c) 72: 24 d) 45: 5
g 80 ol 90 a2 ol crin Qeue Avaull ol YBUSR 9 awa?
What is the product of all prime numbers between 80 and 907
a) 83 b) 7387 c) 598347 d) 8773
9 1257122 i AsH ol s WA
Find the units digit in 1257 12%.
a) 9 b) 7 c) 3 d) 2
(U8t ol 10 - 11)
A2 el i Rated A clld wuR otsdl 5 5 atell Griz AU w3 59 Quet ualid 2
(Question No. 10 -11) Read both the statements given below and decide which statement is sufficient to
answer the question?
10 Galelt ol oont sl a¥ 22l &cll?
Qe
L el s Weiell atell 24 4 ool 8.
L Gelloted auss, Aol %ot 2000 Hl U &cll. Wettell Hicttell 30 i otlell B.
a) Wsq] Atlel 1 YRl B, wAR Asq Ruatet 1 uaiid otell.
by Asc Rtllet 1| Yod B. »uR Asq [Aultat | vt o2l
o ol Rtuet 1 3 1 yRell otell
d) ol @tutet 1 2 1t YRell B,
in which year was Fiona born?
Statements:
. Fiona is currently 24 years younger than her mother.
Il.  Fiona's brother was born in 2000. He is 30 years younger than his mother.
a) Statement | alone is sufficient. While statement Il alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and |l are not sufficient.

d) Both statements | and Il are sufficient.
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11

12

13

UL, 2006 ol BeAl AR 58 UAW 2wl 62
[Qeutst:
Lo A HBeltell Ul 2(Actr 5+l Al el oA,
I A HEetiell Becl Ray Ysaiz sdl.
a) Asq Quist 1 Yy B. *a? Asq Quust 11 vl otell.
b) Asq Qe 11 Yad B. %2R Asc] @Quitet 1 waaired otell,
c) ol [Qtuet 1 Aeel i1 yrell B.
d) olal [Quiet 1 wa It YRell o2l
The last Sunday of March, 2006 fell on which date?
Statements:
I.  The first Sunday of that month fell on the 5".
Il.  The last day of that month was Friday.
a) Statement | alone is sufficient. While statement I alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | or Il are sufficient.

d) Both statements | and Il are not sufficient.

s8oll:

1. €35 AW BB, 2. €35 C A B B,

BICIE

1. €35 C A A B. 2. 32clls B A C ol

a) $5d @y -1 uedu? B, b) $5cl (Resy -2 uqud B.

c) [w 1 u 2 wdgu? B, d) ey -1 ¥ 2 Ugl Asugl uUequd o2l

Statements: 1. Every A is B. 2. Every C is B.

Conclusions: 1. Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

c¢) Conclusion -1 and 2 follow. d) Neither conclusion -1 nor 2 follows.

ofl x ol y Wl Avanll Al ol Aottniell 520 @Ascu Al dven ud?

If x and y are odd numbers, then which of the following options will be an even number?

a) x+y - b)) x+y+1 c) xy d) xy + 2
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14

15

16

17

18

19

20

21

22

23

24

o 2389A4 A 9 ad (LA awdll AsiA Al A =?

If 2389A4 can be divided by 9 without remainder, then A =?

a) 3 b) 2 c) 1 d) 0
79 % 81 X 78 % 99 W BsHall uis slel.

Find the units digit in 72 x 81 x 78 X 99.

a) 1 b) 2 c) 3 d) 4

R Qx=7 (If > =5 then x=7)
x 222_ X 222—

a) 25/2 b) 4/25 c) 25 d) 4

463 — 403 — 63=7

a) 32120 b) 33120 c) 0 d) 30120
9|3 -5|-5x4+10=7?

a) 16 b) —16 c) 52/10 d) —92/10
5ol 101l UE WL 8, 11, 14,17, ...

Write down the 10th term of the sequence: 8, 11, 14, 17, ...

a) 31 b) 33 c) 35 d) 37
1+1+1+1+ L)

27278 16
a) 15/16 b) 31/16 c) 30/16 d) 17/16

Aaisell Qell A wuA Aell ottoll Aul 2ol dslad U, Boll 2Bl AU 14 B.

Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14
a) 18 b) 27 c) 15 d) 36

R 4+ x+1=00 YO aua B &AL, rﬂ%+%ajl1\ca%ac{1 62

If @ and 8 are the root of %% + x + 1 = 0. Then what will be the value of %+ %?
a) 1 by 0 ¢ -1 d) Asuel &l (None)
R x—>=3 8 dlof — Lo e Beg 22

If x —% = 3, then what is the value of x3 - ;——3 ?

a) 36 b) 63 c) 99 d) 27

D 6x% — 5x — k = 0] A5 Y0 3 82 A, k o HE 9 892

If one root of 6x% — 5x — k = 0 is 3, what will be the value of k?

a) 36 b) 39 c) 0 d) 2
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25

26

27

28

29

30

31

140 [Qranelall si2l Andet 4l ofl w212t 35 B, Aui wa 2l (Qenellalell ud2uat 40 a1 B, da
AW adctt Qeanellallol dde 40 Aot B, A drwr wdet Aeenslalel wdasl 20 @t B.
W gdctl (Arauellledl van 3l gdl2

The average of the marks obtained by 140 students is 35. The average of the passed students is 40
marks. And the average of the failed students is 40 marks. So the average of the failed students is 20
marks. So what will be the number of failed students?

a) 40 b) 30 c) 35 d) 20

10 Avaudloll A2 15 A UA €35 Avall ui 5 G WA, A ol w21l 9 olal?

If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?
a) 20 b) 15 c) 10 d) 75

Rcell stetell Gu2 Yot sacll 5 0Qll B, 4 oy ugl Retoll G 4 QN 4, Al Rctell stetoll Guz
g2l aQ?

The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?

a) 12 b) 48 c) 60 d) 72

8l cagett ellaml 15 % A A . R Aell U Al wal A % 2uwdl Sla ol aurlel Hi et 25l
ualsl sl AFA?

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what
percentage should consumption be reduced?

a) 13 -21—2% b) 13% c) 15% d) 13%

30% ell 30% = ? (30% of 30% = ?)

a) 0.09 b) 9 c) 0.9 d) WsUR oA&l (None)
s clag 900/~ 3L Ui Axaell 25% ofl Wz A A Aol yalud el 6917

If an item is sold for Rs 900/- and there is a loss of 25%, what will be its original price?

a) 3600 b) 1125 c) 675 d) 1200

A AN UA UM uefs5N 12 RaAd A 15 Ray ui s Yol 53l 23 8. AW wd uelld 5 Ray
SIH 52 B el URH ol 2% B Al cltdlef 51 WA A Yal sl Sectt Ray coaldl?

If Anish and Param can complete a work in 12 days and 15 days respectively. They work together for

5 days and Param stays away, then in how many days will Anish take to complete the remaining work?
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32

33

34

35

36

37

a) 3 days b) 9 days c) 15/4 days d) Asugl gl (None)
A ol 28l A 4 scls Ml etdl A D, wA B o 2ldl A 6 scits Hi wiell 52 B A ola st Asud
Wletail ua dl U8l d2cll sclls Hi el o ?

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b) 5% c) 12 d) AsuRl A&l (None)
arcllot wal U HollA A5 cacdanl e 3. 2,00,000 of Astel 83, ¥l 3. 1,20,000 o AL 53
23 Uda 3. 80,000 of sl 53, As al ugl, et L& 3. 65,000 LA Uciotal Fecll o8l HeRA?
Jatin and Pawan together invested a total of Rs. 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000. After one year, the total profit was Rs. 65,000. How much profit did
Pawan get?

a) 26,000 b) 39,000 c) 32,500 d) 25,500

110 1L alioll 2etell Bsu 60 BrlUscs B. aHidz wel ur 6l 170 L @icll 2ot A @acl secll
AsS cdl?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long
train standing on parallel tracks?

a) 15.6 b) 16.8 c) 17.2 d) 18

A A cabaledl AR wejs x Brllscs ud y BrlUsaus 8, dl wauk dul [Azs (2 auul 2wt
atll 26 2 uU? Auell doifld ad 32cll 2

If the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed
when they are moving in opposite directions?

a) :—g b) ;‘% c) x+y d x-y

RS, =2n%+3n d d=? (If S, = 2n? + 3n, then d =?)

a) 13 b) 4 c) 9 d -2

A B ol W5 Bucls 4:5D dal Wls WA 7:9 B. A oA €2 HRA 3. 50 s sctl 8, dl A
ol WRs ules d2cll 6212

The monthly income of A and B is 4:5 and the monthly expenditure is 7:9. If both of them save Rs. 50
every month, then what will be the monthly income of A?

a) 530 b) 500 ) 512 d) 400
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(ust ot 38 Ul 39.) T

AR wule we atgul As owHell wllet of Qe

. ‘ [ ] dumwha
ol B, Agell e sdlal ol Aell Yalletl A1 =
N - : wdlas il
ool UL i
== b g e
(Question No. 38 to 39.) '}ﬁnﬁ?;":uiﬁf?’\ \‘; [T ek u2iad wie
_.-‘:u ::m. LR VETNY 60" /.

The pie graph given below shows the details of the AR N/ wf i G dade vl
land of a village. Study the graph and answer the SSE

156 8gi = 7200 57

following questions correctly.

38

39

40

41

42,

43

Qatel wrllol et Al cliats wdlotoll Jellcr dacl alu?

What is the ratio of wasteland (2Lt %¥lel) to cultivable land Al s olet) 2

a) 3:2 by 1:2 c) 4:3 d) 3:1

| Jllme e A0 7200 A5 A3, Al olluz (grazing) M2 decll As2 wlot AsAc 87

If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400

Auark : ARk = 7 HAAR

Monday : Saturday = 7 : Tuesday

a) YsdR (Friday) b) AR (Sunday) c) IR (Thursday) d) ¢udlk Wednesday)

A WORK ol 5l “4-12-9-16" Sl Al WOMAN oll 8ls <ll &lat ?
If the code of WORK is “4-12-9-16" then what is the code of WOMAN ?
a) 4-12-14-26-13 b) 4-26-14-13-12 c) 23-12-26-14-3 d) 23-15-13-1-14
Qs e 6 Bl @ Ra drg wA B, el stoll drg acll 4 Bl w@ B, sdlell stell ouy all
Al Bount 5 B3l w@ B, Al 62 Ao yut A R s 2L ?
A man walks 6 km towards the south, from there he turns left and walks 4 km, then turns left again
and walks straight for 5 km, so in which direction is he now facing?
a) E@Ql (South) b) Gxl? (North) c) 'LLCi (East) d) W@AH (West)
o 2vall 3675249 Uloll U5 Al sriell A olte srAML WA AUl YAs Agl vz wl 3 GRcUM
2d dl olotell otell ssclellul d2clt visl & aud ol HA?
If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,
how many digits appear twice in the new arrangement?
a) 1 b) 2 c) 3 d) 4
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44

45

46

47

48

49

50

51

WA Yat 1l vedl 2is woud, 3 a8 |

Fill in the missing number in the given question. 51

a) 25 b) 20 c) 32 d) 42

As Aol UL (o] 2ol ol B3 ol 16 10 B, A A clsel 1l decil UG sdl2

Ravi's position in a line is 16th from both ends. So how many people are there in that line?

a) 29 b) 30 c) 31 d) 32

1, 4, 27, 16, ?, 36, 343

a) 25 b) 87 c) 120 d) 125

OTE, PUF, QVG, RWH, ?

a) SXI b) SXJ c) TXI d) SvJ

As lseloll acdutel G Aol Widlell 12 52 é ol B, ws ay ugdl, Aol Gur, Aol Mol
GHR 5l % ARl 4 3. A Aol Hictiell cadmiot GHr d2cll sdl2

A person's current age is g times his mother's age. After eight years, his age will be % times his
mother's age. So, what will be his mother's current age?

a) 32 b) 36 c) 40 d) 48
APxQANLQARUPD, P—gdud Qoll et P B, P+ ¢ A UL Qol ML P B, P+
Al W Q ol e P B.

If P x @ means Q's father P, P — Q means Q's sister P, P + @ means Q's mother P, P ~ Q means Q's

brother P.
a) ul={l b) YA c) ot d)y =l 3
(granddaughter) {son) {grandson) (granddaughter or

grandson)
AR As Ratet ulan Hi amna 3:25 2wl B, Al scis wA AR2 sizl ol 22 o oolcti wal g
82
When a wall clock shows 3:25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° c) 47.5° d) 42°
A ogulldl ol 120 Rt gzeur ol wz Raw udel B, A uRell ol 2130 R sa Bad 8917
If the 12th of January is four days before Thursday, then what day will be the 21st of the month?

a) 1-'lCJLU'lC{R(Tuesday) b) YsAR (Friday) c) (Aar? (Sunday) d) AHdlR (Monday)
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52 100 Qarellaiell sRaudl wudat ATl 40 Rael @ (v) AR B, 50 Rewel Rsiet (S) 2R B, 35
Reuell 23w (B) o B, 15 Rauelld AR ¥ Bsiot @ AR B, 10 Rl Rstiot vl 213%
a ol B, 12 Qauelld @t ua 203 wad o B, 5 Rauneld A8 @Qua o 8, A el Qenellal
W As @Qna @l 2 B?
In a survey of 100 students: 40 students like Mathematics (M), 50 students like Science (S), 35 students
like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
English, 12 students like both Mathematics and English, 5 students like all three subjects. How many
students like only Mathematics?
a) 13 by 17 c) 30 d) 18

53 sl (x) ol W et wR Bl (a), (b), (€) ¥ (d) niell Aol wll wdlaell woll ude 53l

choose the correct mirror-image of the Fig. (x) from amongst the four alternatives (a), (b), {c) and (d)

given along with it. S o) o \ Ol
| e
(x) a) b)

R
(U8l ol. 54 -55)
A3 ol B tautetyds ald u oA Wt Walloll clied .
ocl Blzotl Aedl Ay 2Rl Bz DA WY 8 3 Al J KL MNOP Q ddRB. AU Ay ¥
o3lo Hi AL B. L, M ol g2ct wugll cuyd el N ol agmall oty R B. K gAnetl As Bl ur 8. Q ¥
0w P ol ol WR A8 B. 0, K oll stell oz oot 51 B. J, 0 ofl S grel ¥ AdA B,

(Question No. 54-55) Read the information below carefully and answer the questions given below.
Nine cricket fans are watching a cricket match in a stadium. They are JK.LLMN O P Q and R. And
they are sitting in the same row. L is immediately to the right of M and third to the right of N. K is at one
end of the row. Q is sitting near both O and P. O is third to the left of K. J is sitting immediately to the left
of O.
54 e30ell M el sl A 87
Who is sitting in the middle of the row?
a) | b) J ¢) O d) Q
55 g3l ollot DY Blal Ag B? / Who s sitting at the other end of the row?

a) J b) P c) N d) R
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56 P ofl lscuoll B¥su Q &l AR g R ofl auiHell A Al B, R ol su s ol WS B, A 2l
UyeHl Well BsUl Elsellz slaL B2
P's running speed is greater than Q but less than R. R's speed is less than S. So, who is the fastest
runner in this group?
a) S b) R c) P d Q
(U# ol. 57-60) - -
Studnets School ‘ Boys : Girls
o{lAelt o gell AUeAN 5 B & WA UL 2000 A 57 08 |
atousll get Qauelllell dvat ol B :ggg T 8 | 06:0s
Aol Ysllell oll wallol AL, :ggg c 01 : 01
(Question No. 57 -60) Study the graph below | 2000 —D ‘ 03 ;Eﬁ |
which shows the total number of students in 1003 E 02 : 01
six different schools and answer the questions. A B C D E F F _07 . 03
57 otll auoualul 8lsatlell a2 3ecll B? (What is the average of girls in all school?) a
a) 1375 b) 1275 c) 1225 d) 1350
58 20U F ML OlsABM A 2Wow D UL Sl a2 9 dslacd B2
What is the difference between the boys in school F and the girls in school D?
a) 600 b) 700 c) 400 d) 200
59 %l uow E i 30% (Qeauel0A wan Qewst, 28% QeelRAA ol @ewot, 26% QenelRUA AR
(ewar Al §lat WA cttdlett W ot g2l 8, Al stwt 2det QeelAl s,
If in school E 30% students got first division, 28% students got second division, 26% students got third
division and rest did not pass. Find the failed students.
a) 1000 b) 900 c) 940 d) 960
60 20w B Wi s A W ¢ Ui BlsAB Al 9l 32l §7

What is the ratio between girls in school B and boys in school C?

a) 8:5 b) 5: 8 c) 6:7 d 7:6

*The End*
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CHARUTAR VIDYA MANDAL’S
Vitthalbhai Patel & Rajratna P. T. Patel Science College
(Autonomous)

Laboratory Assistant Written Examination
Part-A (Series: C)

Subject : .
Date: 2%[9[2028 Time: 60 Min Marks : 60

Candidate Sign. : SeatNo.

1

v As Rolcd uBan ui w 3:25 B3 B, dl scs wuA A2 szl ofl 222 U ootcti Wall 8
&2

When a wall clock shows 3:25, what will be the minimum angle between the hour and minute hands?
a) 60° b) 52.5° c) 47.5° d) 42°

A APl ol 1220 Bt o3z ol AR Ban udel B, A Ut ol 2130 Bau sal Rad sdl2

If the 12th of January is four days before Thursday, then what day will be the 21st of the month?

a) 113lUICll2(Tuesday) b) YsdR (Friday) c) a2 (Sunday) d) AlMalR (Monday)
100 (Qene{luiell srat wudett 1 dui: 40 Qeuell Bld (M) 9 B, 50 Renel Astiot (S) 2 B, 35
Qanell 243w (E) 2R B, 15 Reuelld ARt uUA Rstiot oA 212 B, 10 Reuell Rsitot %
ol oA B, 12 [Qenellal ol U 2 A AN B, 5 Qaelld A3a Ava o} B, Al decti Renelld
UL AW (AN aldld oA B?

In a survey of 100 students: 40 students like Mathematics (M), 50 students like Science (S), 35 students
like English (E), 15 students like both Mathematics and Science, 10 students like both Science and
English, 12 students like both Mathematics and English, 5 students like all three subjects. How many
students like only Mathematics?

a) 13 b) 17 c) 30 d) 18

U (x) ofl W et w2 Qsedl (a), (b), (c) U (d) Higll Aol w2l uFlattell woll uaic 53\

choose the correct mirror-image of the fig.(x) from amongst the four alternatives (a), (b), (c) and (d)

] T

(x) a) b) d)

given along with it

(U4 ol 5-6)
ol ofl el tattotyds cliall wal A wDet YA ol weliol wi,
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ool Bleatl uedl As RBRanul B3z AU ALY @ B. QA J, K L, M, N, O, P, Q, dl&lt R B. 3 A5 %
s Hi AsL D. L, M ol q2ct wHell oty et N ol ol ot 25l B. K gnetl As Bsi Uz 8. Q A
0 Ul P i ofl WA A8 B. 0, K oll stoll ety Alost 5 B, J, 0 oll SIA et o Adc B.

(Question No. 5-6) Read the information below carefully and answer the questions given below.

Nine cricket fans are watching a cricket match in a stadium. They are J, K, L, M, N, O, P, Q, and R. And

they are sitting in the same row. L is to the immediate right of M and third to the right of N. K is at one end

of the row. Q is sitting near both O and P. O is third to the left of K. J is sitting immediately to the left of O.

5 &A0Lell HE MM 5l AG B?
Who is sitting in the middle of the row?
a) | b) J c) O d) Q
6 &l ollo B3 slel AG B?
Who is sitting at the other end of the row?
a) J b) P c) N d) R
7 P ol Escllell 35U @ Al awd uid R ol quHgl A A B. R ol dsu s Yl WS B, Al Al
uyeul dlell BsUl Elsou slaL B2
P's running speed is greater than Q but less than R. R's speed is less than S. So, who is the fastest
runner in this group?
a) S b) R c) P d) Q
sl ol. (8-11) =
Studnets School | Boys : Girls I
oflAsit Agoll WeAU A F © UAN UAN oo b -
phuy A 07 : 08
N . [¢] 0 - | I —
ol g [QeellA vt ocdtd & wa [ A s o
o{lAott WAl oll octtol AU, oo . c | o01:01
3000 ~ : 0
Question No. (8-11) Study the graph below which 2000 D 03 : 01
1000 N _
shows the total number of students in six different 0 E 02:01
A B C D E F — - —
schools and answer the following questions. a F_ _ 07_: 03
g8 oltfl quoullHl ¥lsdllloll w32 32cll B2 (What is the average of girls in all school?)
a) 1375 by 1275 c) 1225 d) 1350
9 UOU F i GlsAA AUA Wt D HE 95 A g dsiadd 8?2

What is the difference between the boys in schoo! F and the girls in school D?
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10

11

12

13

14

15

16

17

a) 600 b) 700 c) 400 d) 200
W A E Hl 30% Renellzal yon [Qewdt, 28% ReslzdA ol [Qewdt, 26% QenslxdA AR
[Qewdt Aoeall flat UN oitdlott wial of qAL A, Al ottury adel Reelled A6

If in school E 30% students got first division, 28% students got second division, 26% students got third
division and rest did not pass. Find the failed students,

a) 1000 b) 900 c) 940 d) 960

W B L BlsTA AR 2o ¢ Hi Bls2A Qo] AQUTR decll 82

What is the ratio between girls in school B and boys in school C?

a) 8:5 b) 5:8 c) 6:7 d 7:86

BDF, CFl, DHL, ?

a) EMI b) CJM c) EJO d) EML

23, 29, 36, 44, ?

a) 58 b) 55 c) 53 d) 49

B+ GRAGR X, — GRAGR +, X HAKR = U + wRAAR — Jla A 6-9+8x3+20=

If + equals x, — equals +, X equals + and = equals — then 6 -9+ 8 x 3 = 20 =

a) 6 by 2 c) 12 d) 10
AU st Ul vedl us woud), s | 7 [ 3
Fill in the missing number in the given question. | 20 30 10

95 | 145 | 9

a) 225 b) 75 c) 45 d) 33

o{lAtt coll g{bilou Hqoital A A eafadl Aot U5 ure 53A: s, A, yd

Select the Venn diagram that best illustrates the relationship among the following classes: Moon, stars,

sun

a) b) c) d)
e @

oo OO0

lA A5 o wWael w2 e WA U WAL B, 51 of] Q36 dvay el

Four different positions of the same dice are given below. Find the opposite number of 51

<82 BE, B 6
5385 154 55| 51|53 (51 54
D R e L
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a) 53 b) 52 ¢) 55 d) 54

18 AUl [Aseuiell, 2dd Al Bl o A W 8:4

From the given options, find the pair which is similar to the given pair: 8:4

a) 216: 32 b) 27: 9 cy 72: 24 d) 45: 5
19 80 &l 90 A ofl M wQeuwa dAvul ol JRuslR 9 wa?

What is the product of all prime numbers between 80 and 907

a) 83 b) 7387 c) 598347 d) 8773
20 125722 {i AsH ol A5 WL / Find the units digit in 1257 122

a) 9 b) 7 c) 3 d) 2
(U8 ol. 21 - 22)

ol U old QAelell A il AUA otsl 5A 3 Usell Griz U WB 52 Qbuel vl D7

(Question No. 21 - 22)

Read both the statements given below and decide which statement is sufficient to answer the question?

21

(Fallott oll oo s2ul a¥ Yl sdl?
(Quutet:
L (Balett, wu? Wetell uiciell 24 oy ool .
I (Glletloll e, Qell oot 2000 Hi 42 &l Weltoll Hicttell 30 ANl ottell D,
a) Asqf [Auel 1 Y B. *ad Asq Qauet 1 waird oo,
b) Asq [Qtutet Il Yad B. = Ase Qutet | vaitd o],
c) oot (Aot | WA 11 Yrell a2,
d) o [Aulet | U 11 Yae B.
In which year was Fiona born?
Statements:
I.  Fiona is currently 24 years younger than her mother.
. Fiona's brother was born in 2000. He is 30 years younger than his mother.
a) Statement | alone is sufficient. While statement Il alone is not sufficient.
b) Statement 1l alone is sufficient. While statement | alone is not sufficient.
c) Both statements | and Il are not sufficient.

d) Both statements | and Il are sufficient.

P
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22

23

24

W, 2006 oll Beell QR 58 AR el sdl?
Qeuet:
L Hetloll udell QAR 5 L AE wel &l
A HWolell Beell Rat gsatz odl.
a) Wsqf (Aot 1 Y B. *a? Ase] Quitet 1 uaitd o,
b) Asq [Qtltet I Y B. w2 Ase et | uAlre oo,
c) ool [Qutet 1 el 1 Yl B.
d) olal [Quet 1 ua 11 yRell otefl,
The last Sunday of March, 2006 fell on which date ?
Statements:
l.  The first Sunday of that month fell on the 5th.
ll.  The last day of that month was Friday.
a) Statement | alone is sufficient. While statement 1l alone is not sufficient.
b) Statement Il alone is sufficient. While statement | alone is not sufficient.
c) Both statements | or |l are sufficient.

d) Both statements | and I are not sufficient.

$Uoll:

1. €5 AR B B, 2.5 CAB D,

(s

1. EIE CAAD. 2, ¥ecils B 3 ¢ o2l

a) g5 [ -1 w3 BD. b) 85cl e -2 QA2 B,

c) [l -1 ual 2 wagud B, d) (el -1 ¥ 2 U4l Asunl U otell.

Statements: 1. Every A is B. 2. Every C is B.

Conclusions: 1. Every C is A. 2. Some B is not C.

a) Only conclusion -1 follows. b) Only conclusion -2 follows.

¢) Conclusion -1 and 2 follow. d) Neither conclusion -1 nor 2 follows.

Al x el y WGl vl dl «{Asniell sl @scu Al dvan ud 2

If x and y are odd numbers, then which of the following options will be an even number?

a) x+y b) x+y+1 c) xy d) xy+2
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25

26

27

28

29

30

31

32

33

34

35

ol 2389A4 & 9 a3 [A:AY ewdll Asta A A =2

If 2389A4 can be divided by 9 without remainder, then A =?

a) 3 by 2 c 1 d) 0
72 x 81 x 78 x 99 Ul Asuall 25 .

Find the units digit in 72 X 81 x 78 X 99.

a) 1 b) 2 c) 3 d) 4
RN X Qx=? af 22 = X then x =?)

x 22— x 222—
a) 2502 b) 4/25 ) 25 d) 4

46% — 403 - 63=?

a) 32120 b) 33120 c) 0 d) 30120
913-5|-5x4+10="7

a) 16 b) —16 c) 52/10 d) —92/10
sUoll 101l UE g 697 : 8, 11, 14, 17, ...

The 10th term of the sequence: 8, 11, 14, 17, .... is .........

a) 31 b) 33 c) 35 d) 37
1+-+ +1+ !,

2 4 8 16
a) 15/16 b) 31/16 c) 30/16 d) 17/16

A-vigo(l Alell M| ual Wl cltol Avau2l Aol ctstetcd WL, Boll Bisloll AU 14 B,

Find the difference between the largest and the smallest two-digit numbers whose sum of digits is 14.
a) 18 b) 27 c) 15 d) 36

B x?+x+1=00q YN a U g &, ‘niJ’%"i’iﬂ" sed &2

If ¢ and B are the root of x* + x + 1 = 0. Then what will be the value of %+ %?

a) 1 b) 0 c) -1 d) None (AsuQl «l8l)
Hlx—>=3 8 dl of x% - of Het beqf A

If x— % = 3, then what is the value of x3 —x—13 ?

a) 36 b) 63 c) 99 d) 27

A 6x2 —5x— k=0 Ws YA 3 §la |, k of He g 69?

If one root of 6x* — 5x — k = 0 is 3, what will be the value of k?

a) 36 b) 39 c) 0 d) 2
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36

37

38

39

40

41

42

140 Qraul it Radet gL ol udaiet 35 B, Al wa adet Qe adausl 40 oL B. dal
Aluld adel Arauelllloll #1240 ol B. dl dtwd adet Rteusllalloll udatel 20 QL 8.
Al Adctt (Qreuelllloll duaut Jeell 57

The average of the marks obtained by 140 students is 35. The average of the passed students is 40
marks. And the average of the failed students is 40 marks. So, the average of the failed students is 20
marks. So, what will be the number of failed students?

a) 40 b) 30 c) 35 d) 20

10 Aualiallell yR212 15 Sl U €35 vl Ui 5 GRcUui A, A otcll HB2U9L 9 olal?

If the average of 10 numbers is 15 and 5 is added to each number, what will be the new average?
a) 20 b) 15 c) 10 d) 75

Rctell stetell 612 Yot s2ctl 5 ol B. 4 ad ugdl Aol Guz 4 ol 4, Al Mol stetoll Guz
secll a2

The father's present age is 5 times that of his son. After 4 years, the father's age will be 4 times that
of his son, then what will be the father's present age?

a) 12 _ b) 48 c) 60 d) 72

88 cligoll ellaHl 15 % i i B. A Aot U2 Ul W A o 2AWdl 8l dl el 1l dac 25
u2Lsl sl AgA?

The price of an item increases by 15%. If the expenditure on it is to remain the same, by what
percentage should consumption be reduced?

a) 13--% by 13% c) 15% d) 13:-%

30% ol 30% = ? (30% of 30% = ?)

a) 0.09 b) 9 c) 0.9 d) None (AsURL otgl)
As clid 900/ 3R 1l Aueuell 25% ofl Wz a8 dl Aol yaBud dzcll sl

If an item is sold for Rs 900/- and there is a loss of 25%, what will be its original price?

a) 3600 b) 1125 c) 675 d) 1200

A UEY Bl URH g5 12 Bt A 15 R ul st yal 531 23 3. Qall wd welld 5 Ran s
52 B el UM ¥cll @ B l idlof st UAN A Yyl 52t Fee Bay cold?

If Anish and Param can complete a work in 12 days and 15 days respectively. They work together for

5 days and Param stays away, then in how many days will Anish take to complete the remaining work?
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43

44

45

46

47

48

a) 3 days b) 9 days c) 15/4 days d) None (Rsug «&l)
A o 218l A 4 scls Hi dl 9 B, uA B a 2ifl A 6 scus L wiell 53 B A el Ao Asud
WeaHl 21 dl 2igl d2cll sclls Ml eRLE A ?

Tap A can fill the tank in 4 hours. And tap B empties the tank in 6 hours. If both the taps are opened
simultaneously, in how many hours will the tank be filled?

a) 15 b) 5% c) 12 d) None (AsUQL ot&l)
wcllol wR Ul HollA As carcuAl el 3. 2,00,000 of Ast@l 53, ¥cllA 3. 1,20,000 Aswal 53
AU Ul 3. 80,000 of Astal 5. As a ugdl, gt 8l 3. 65,000 UL Udelal Secll o8l HeA?

Jatin and Pawan together invested a total of Rs, 2,00,000 in a business. Jatin invested Rs. 1,20,000
and Pawan invested Rs. 80,000. After one year, the total profit was Rs. 65,000. How much profit did
Pawan get?

a) 26,000 b) 39,000 ¢) 32,500 d) 25,500

110 L cliell 20to0l 35U 60 BrlUscus B. uxidr wat uR GAC 170 ML aiell 3ot A wlddLAl secll
A%s cd?

The speed of a 110 m. long train is 60 km/hr. How many seconds does it take to cross a 170 m. long
train standing on parallel tracks?

a) 15.6 b) 16.8 c) 17.2 d) 18

A A cabaloll gl uasd x BUscus uA y Borllsaus 2, Al wAuR duil @3¢ [Raunl o0
atll 2@ 62 ud Auell Aoifd o dzcll sdl7

If the speeds of two people are x km/hr and y km/hr respectively, what will be their relative speed
when they are moving in opposite directions?

a)
x+y
A S, =2n2+3n, dld=? [ IfS,=2n%+3n, thend =7

xy b) j_’_”_;',- c) x+y d x—-y

a) 13 b) 4 c) 9 d) -2

A ud B oll s s 4:5 dal Wls wd 7:9 B, A A €2 URA 3. 50 tlUd scll A, A A
ol RS vas decl 622

The monthly income of A and B is 4:5 and the monthly expenditure is 7:9. If both of them save Rs. 50
every month, then what will be the monthly income of A?

a) 530 b) 500 c) 512 d) 400
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(U . 49 &l 50,)
oA wA W Ysul A oyaol] ¥Hlot of Qa2 edlay A

8, AUlsell UeALY 531 o{lAett Ysllott o2y oycieq AL

sty
[Hﬂﬂﬂﬂ] @] 42agd il

74 of 3 v dade wie

(Question No. 49 to 50.)

The pie graph given below shows the details of the land of

-
Rt r\i

*: ___.-/

a village. Study the graph and answer the following : 3
1§61 84501 2 7200 2lag)

questions correctly.
49 Aot W let el Nell cuas SHlotoll IR J2cl ura?
What is the ratio of wasteland (2o %lel) to cultivable land Qcllctas wi{loty?
a) 3:2 b) 1:2 c) 4:3 d) 3:1
50 %l JUHe} e A5 7200 Ase 82, Al oNAR (grazing) w3 yacll UsR wllel AsAc D2

If the total area of the village is 7200 acres, then how many acres of land is reserved for grazing?

a) 1028 b) 5040 c) 3600 d) 1400
51 AHAR Aarr 7 HolAR
Monday : Saturday @ 7 : Tuesday
a) Ysdir (Friday) b) Aalz (Sunday) c) Izl (Thursday) d) Oqu{R(Wednesday)

52 %l WORK oll 815 “4-12-9-16" Qa1 il WOMAN ol sls 9 8l 2
If the code of WORK is “4-12-9-16" then what is the code of WOMAN ?
a) 4-12-14-26-13 b) 4-26-14-13-12 c) 23-12-26-14-3 d) 23-15-13-1-14

53 s w6 Bl e@u Ray 2% AA B, el stoll drs cofl 4 (3l @ B, 5ol siall ooy aufl
el Rauni 5 Bal w@ ®, A 62 Aof yul § Rau ey Qlat »
A man walks 6 km towards the south, from there he turns left and walks 4 km, then turns left again
and walks straight for 5 km, so in which direction is he now facing?
a) €@l (South) b) GwR (North) ¢) yd (East) d) ullu (west)

54 ol Avall 3675249 Uioll Ydls A sl A oite s2cuml WA qy Uls A8l a5 Wi 3 GRrcyn
UA A ototell otell asanllni dzcy S A vl N 1R
If two are subtracted from each odd digit of the number 3675249 and 3 is added to each even digit,
how many digits appear twice in the new arrangement?

a) 1 b) 2 c) 3 d) 4
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55

56

57

58

59

60

AUt st 1l vl s weud, [ 3 | 18 |

Fill in the missing number in the given question. 51

a) 25 by 20 c) 32 d) 42

A5 clet Hi Adef 2etel ol BY ol 16 1N D, A A ol Ui Secl B 83l 2

Ravi's position in a line is 16th from both ends. So how many people are there in that line?

a) 29 b) 30 c) 31 d) 32

1, 4, 27, 16, ?, 36, 343

a) 25 b) 87 c) 120 d) 125

OTE, PUF, QVG, RWH, ?

a) SXI b) SXJ c) TXI d) SyJ

s Aol clcdulet G Aoll Uicllell G 52l § Rl B. s il uedl, Aoll Gur, Aell Mictoll G2
sdl % AR U N Al Aol Hicltoll acduiot Guz decll 537

A person's current age is %times his mother's age. After eight years, his age will be % times his mother's
age. So, what will be his mother's current age?

a) 32 b) 36 c) 40 d) 48
APxQAULQARAUPD, P-@ el ud Qoll ddet P B, P+ dAlwd Qoll L P B, P+ @
Audadewspd. ol 8+D xm SnNargMIa | M ol B @il gy Mol e)

If P X Q@ means Q's father P, P — Q means Q's sister P, P + Q@ means Q's mother P, P = Q means Q's
t n o
brother P. 16 84D XM o | What is e reladlm of M with R )
’

a) =l b) Y2l c) dy =l ¥ QA
(granddaughter) (son) (grandson) (granddaughter or
grandson)
A -0
*The End* R A
C- 60
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